© HEINRICH KIPP WERK GmbH & Co. KG

&
1>
>
um
Il
L]
>
Jm
o
T
2
i
]
S
H
ot

Mo

=

HE Y. o

oIl ZHXE 5H HoZ 2lal &F UxI7F HetE He WxIsHok
st= 2o AHSELIC HX EEE =522 Zo{olEt CHE & F 2%

2 0|SE + &Lt
YAIZol dA &3 Ele Eo{ok 5t 3 Elo| gESE YX|sHok ot
Z<eolE B C EE Bt DE Ab8aiiofF Zic.

THE:
2B HT:
LIAt &21E, A
&2 El1.4305.
AH|IQIZ|A AR BT
x

LIAb &2/ & &2 E1.4305.

OfUE ME, BItAd £=X|
EM OlF2]:
AR T

LEAb 22|, ZA I8 2]
Ha g, st og, FEE *El

AH|IQIE|A AE HA:

e

A A XIGE 2O 2 ETE EF5HAAL.
2FAl:

E MA HH

=0 M.

EIZ A: &2 €% 18, &2 HE gig

EtB: &2 &% 813, &2 HE U3

EIl C: &2 &% U, B HE QIS

EID: &2 22 UZ, 2 HE US

www.kipp.com - info@kipp.com 1/5



°
X1 = X cc = AE]IO A AElI =ZJLAE ol X LS
Ecl' - —E‘Iln_la‘“——a EEI'——I OI‘EEJI&IT'_'JOIL'I';E!'
=N
A A
® 5 PR © 5 Q)
i ) i &
Y | i S | ~
i ‘ SWi \ | Sy
= . ; Swe e ‘ A
v \
Sle || oG ar B0 i
| ! N . !
w i U}___- | [
T T
Dpg Do
k. o]
ES 29
T3 EBE 2 E£E AHQIA AL, ZaAE] OfU &0 Ed
FEHS Ef 2= R & LA S AAL D DI A B L L1L2L3 2E SW1SW2 Fx A[E Ed T
& 23 30° EtY BZE E3
S F1 F2 max. Nm
9. N 9N
K2047.0104080 A AE] AS[MRAL7021 4 M8 205,344,51523,813 4 8 1 6 12 2
K2047.0115100 A AE HE|MRAL7021 5 M10 2567 52,21728,515 5 10 1,3 6 12 7
K2047.0126120 A A ZH3MRAL7021 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.0138160 A AE HE|M RAL 7021 8 M16 4010,7 81 2645,323 8 16 2,3 8 19 20
K2047.0104081 A AE H3|M RAL 7021 4 M8x1 205,344,51523,813 4 8 1 6 12 2
K2047.0115101 A AE ZA3|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
K2047.0126121 A AE] H3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.0138161 A AE Z43|M RAL 7021  8M16x1,54010,7 81 2645,323 8 16 2,3 8 19 20
K2047.010408084 A AEl WNEASE ) 4 M8 205,344,51523,813 4 8 1 6 12 2
Z RAL 3020
K2047.011510084 A AE NEASE ) 5 M10 256,752,21728515 5 10 1,3 6 12 7
Z RAL 3020
K2047.012612084 A A pMEE W 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
Z RAL 3020
K2047.013816084 A A (MBS w 8 M16 4010,7 81 2645,323 8 16 2,3 8 19 20
Z RAL 3020
K2047.010408184 A AE MESE 4 M8x1 205,344,51523,813 4 8 1 6 12 2
ZH RAL 3020
K2047.011510184 A AE M E w 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
ZH RAL 3020
K2047.012612184 A AEl WNEASE ) 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
Z RAL 3020
K2047.013816184 A AE WNEASE ) 8M16x1,54010,7 81 2645323 8 16 2,3 8 19 20
Z RAL 3020
K2047.1104080 A |¢E1I°._| | HE|M RAL7021 4 M8 205,344,51523,813 4 8 1 6 12 2
A AE]
K2047.1115100 A fEiIO._l | HE|MRAL7021 5 M10 2567 52,21728,515 5 10 1,3 6 12 7
A AE]
K2047.1126120 A AHQl HE|MRAL7021 6 M12 30 8 61,72034 17 6 12 1,8 8 15 15
flA AE]
K2047.1138160 A fEilo.J | H3|M RAL 7021 8 M16 4010,7 81 2645,323 8 16 2,3 8 19 20
A AE]
K2047.1104081 A |AE1I°._I | Z3|M RAL 7021 4 M8x1 205,344,51523,813 4 8 1 6 12 2
A AE]
K2047.1115101 A |¢E1I°._| | ZA3|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
A AE]
K2047.1126121 A |¢E1I°._| | Z43|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
A AE]
K2047.1138161 A fEiIO._l | Z43|M RAL 7021  8M16x1,54010,7 81 2645,323 8 16 2,3 8 19 20
A AE]

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/5



K2047

°
X1 = CCX= AF]IO A AElI =ZJLAE ol DX LS
Eie SE 43 t= 2|21 A AE! E2fAE] ofE &=F0| £
Z= 29
FEHS Et 2 xHE LA A AL D DI A B L L1L2L3 AE SWISW2 Fx AlE Ed =g
2 23 30° EY B2 E3
S F1 F2 max. Nm
ok N S9N
K2047.110408084 A fEiIO._lé (e 5w 4 M8 205,34451523,813 4 8 1 6 12 2
HA AE Z RAL 3020
K2047.111510084 A fEiIO.JE‘ S w 5 M10 256,75221728515 5 10 1,3 6 12 7
HA AE Z RAL 3020
K2047.112612084 A fEiIO._I eSS w 6 M12 30 8 6172034 17 6 12 1,8 8 15 15
A AE] ZH RAL 3020
K2047.113816084 A fEiIO._I | WNEASE ) 8 M16 4010,7 81 2645,323 8 16 23 8 19 20
A AE] Z RAL 3020
K2047.110408184 A fEiIO._I | ;A_li% i 4 M8x1 205,34451523,813 4 8 1 6 12 2
A AE] Z RAL 3020
K2047.111510184 A fEiIO._I | ;A_IE% ) 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
A AEl ZH RAL 3020
K2047.112612184 A fEiIO._l | ;A_IE% i 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
A AE] ZH RAL 3020
K2047.113816184 A fEiIO._Ié pMEE 8M16x1,54010,7 81 2645323 8 16 23 8 19 20
A AE Z RAL 3020
K2047.0204080 B AE] ZHE|MRAL7021 4 M8 205,344,51523,813 4 8 13 1 6 12 2
K2047.0215100 B AE AS|M RAL7021 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
K2047.0226120 B A HAS|M RAL7021 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
K2047.0238160 B AE HE|M RAL7021 8 M16 4010,7 81 2645323 8 16 24 2,3 8 19 20
K2047.0204081 B AE AS|M RAL 7021 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
K2047.0215101 B A AS|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
K2047.0226121 B AE H43|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
K2047.0238161 B AE A3|M RAL 7021 8M16x1,54010,7 81 2645323 8 16 24 23 8 19 20
K2047.020408084 B AE NEASE 4 M8 205,34451523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.021510084 B A SRy 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.022612084 B AE f_Ii% t 6 M12 30 8 61,72034 17 6 12 19 1,8 8 15 15
Z RAL 3020
K2047.023816084 B AE ;A_IE% ) 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
Z RAL 3020
K2047.020408184 B A pMES w 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.021510184 B AE WNEASE ) 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.022612184 B AEl WNEASE ) 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
ZH RAL 3020
K2047.023816184 B AE WNEASE 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
ZH RAL 3020
K2047.1204080 B |¢E+|°._I | AS|M RAL7021 4 M8 205,34451523,813 4 8 13 1 6 12 2
A AE]
K2047.1215100 B fEiIO._l | ASM RAL7021 5 M10 256,7 52,21728,515 5 10 17 1,3 6 12 7
A AE]
K2047.1226120 B AH|Ql M RAL7021 6 M12 30 8 61,72034 17 6 12 19 1,8 8 15 15
A AE]
K2047.1238160 B AE|QI HAE|M RAL7021 8 M16 4010,7 81 2645323 8 16 24 2,3 8 19 20
fl&a AE
K2047.1204081 B |¢E+|°._I | AS|M RAL7021 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
A AE]
K2047.1215101 B lAEﬂO._I | A3|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
A AE]
K2047.1226121 B |¢E+|°._I | A3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE]
K2047.1238161 B fEiIO._l | A3|M RAL 7021 8M16x1,54010,7 81 2645323 8 16 24 23 8 19 20
A AE]
K2047.120408084 B fEiIO._lé ;A_IE% it 4 M8 205,34451523,813 4 8 13 1 6 12 2
A AE Z RAL 3020
K2047.121510084 B fEiIO._I A 5w 5 M10 256,7 5221728515 5 10 17 1,3 6 12 7
A AE] ZH RAL 3020
K2047.122612084 B |¢E+|°._I | WNEASE ) 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE] ZH RAL 3020
K2047.123816084 B AH|QI WNEASE ) 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
A AE] ZH RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/5



K2047

°
X1 =  CCX= AFI|O A AElI =ZaLAEI olal] A Xk ILS
Eie SE 43 t= 2|21 A AE! E2fAE] ofE &=F0| £
E= 29
FEHS Et 2 xHE LA A AL D DI A B L L1L2L3 AE SWISW2 Fx AlE Ed =g
2 23 30° EY B2 E3
S F1 F2 max. Nm
o N 9N
K2047.120408184 B fE‘HOI_lEéj 7;&!5% ik 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
A A Z RAL 3020
K2047.121510184 B falo'_lg ;A_I?_% t 5 M10x1 25 6,7 52,21728,515 5 10 17 13 6 12 7
HA AE Z RAL 3020
K2047.122612184 B I¢E+|°._I pMEE 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE] ZH RAL 3020
K2047.123816184 B lAEilo._l | WNEASE ) 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
A AE] Z RAL 3020
K2047.0304080 C A AS|M RAL7021 4 M8 205,34451523,813 4 8 1 6 12 2
K2047.0315100 C AE HE|MRAL7021 5 M10 2567 52,21728,515 5 10 1,3 6 12 7
K2047.0326120 C AE HAS|MRAL7021 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.0338160 C A AS|M RAL7021 8 M16 4010,7 81 2645323 8 16 23 8 19 20
K2047.0304081 C AE HE|M RAL 7021 4 M8x1 205,344,51523,813 4 8 1 6 12 2
K2047.0315101 C AE A3|M RAL 7021 5 M10x1 256,7 52,21728,515 5 10 1,3 6 12 7
K2047.0326121 C A A3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.0338161 C AE ZH3|M RAL 7021  8M16x1,54010,7 81 2645,323 8 16 2,3 8 19 20
K2047.030408084 C AE pMEE w 4 M8 205,34451523,813 4 8 1 6 12 2
Z RAL 3020
K2047.031510084 C A pEE W 5 M10 256,75221728515 5 10 1,3 6 12 7
Z RAL 3020
K2047.032612084 C AE :LI_%_% k- 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
Z RAL 3020
K2047.033816084 C AE :&E% - 8 M16 40107 81 2645323 8 16 2,3 8 19 20
Z RAL 3020
K2047.030408184 C AE] 7:&§% i 4 M8x1 205,34451523,813 4 8 1 6 12 2
ZF RAL 3020
K2047.031510184 C AE AAJE% t 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
Z RAL 3020
K2047.032612184 C AE 7;/:@% t 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
Z RAL 3020
K2047.033816184 C AE ;A_Ii% ) 8M16x1,54010,7 81 2645,323 8 16 23 8 19 20
Z RAL 3020
K2047.1304080 C AE|Ql HE|M RAL7021 4 M8 205,344,51523,813 4 8 1 6 12 2
flAa AE
K2047.1315100 C EN=TT ZHS|M RAL7021 5 M10 2586,7 52,21728,515 5 10 1,3 6 12 7
A AE]
K2047.1326120 C AH|QI AS|M RAL7021 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
tlAa AE!
K2047.1338160 C |¢E+|°._I | AS|M RAL7021 8 M16 4010,7 81 2645323 8 16 23 8 19 20
HlA AE]
K2047.1304081 C |¢E+|°._I | AS|M RAL7021 4 M8x1 205,34451523,813 4 8 1 6 12 2
A AE]
K2047.1315101 C AH|Ql A3|M RAL 7021 5 M10x1 256,7 52,21728,515 5 10 1,3 6 12 7
A AE
K2047.1326121 C AH|Ql ZH43|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
A AE]
K2047.1338161 C falo“la A3|M RAL 7021 8M16x1,54010,7 81 2645323 8 16 2,3 8 19 20
A AE]
K2047.130408084 C fE“o"la 7:&5% t 4 M8 205,34451523,813 4 8 1 6 12 2
A AE] Z' RAL 3020
K2047.131510084 C lAEilo._l | :ﬂi%% 5 M10 256,752,21728,515 5 10 1,3 6 12 7
A AE] ZH RAL 3020
K2047.132612084 C |¢E+|°._I | ;A_IE% t 6 M12 30 8 61,72034 17 6 12 1,8 8 15 15
A AE] ZH RAL 3020
K2047.133816084 C fEiIO._I | ;A_Ii% -l 8 M16 4010,7 81 2645,323 8 16 23 8 19 20
A AE] ZH RAL 3020
K2047.130408184 C fEiIO._Ié ;A_I_%_% it 4 M8x1 205,344,51523,813 4 8 1 6 12 2
A AE Z RAL 3020
K2047.131510184 C fal?_l | :LL%_% i 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
A AE] ZH RAL 3020
K2047.132612184 C |¢E+I°._I | pMEE w 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
A AE] ZH RAL 3020
K2047.133816184 C lAEiIOI | WNEASE ) 8M16x1,54010,7 81 2645,323 8 16 23 8 19 20
A AE] ZH RAL 3020
K2047.0404080 D A AS|M RAL7021 4 M8 205,34451523,813 4 8 13 1 6 12 2
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/5



°
X1 =  CCX= AFI|O A AElI =ZaLAEI olal] A Xk IirS
e =E 7Q|.E - _E‘II._'E“_ —_ = EEI‘——l OI‘E AI 'n'_'|=|0| i‘é!'
Z= 29
FEHS Et 2 xHE LA A AL D DI A B L L1L2L3 AE SWISW2 Fx AlE Ed =g
2 23 30° EY B2 E3
S F1 F2 max. Nm
ok N S9N
K2047.0415100 D AE ASMRAL7021 5 M10 256,7 52,21728,515 5 10 17 1,3 6 12 7
K2047.0426120 D AE AS|M RAL7021 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
K2047.0438160 D AE HAE|M RAL7021 8 M16 4010,7 81 2645323 8 16 24 2,3 8 19 20
K2047.0404081 D AE AS|M RAL 7021 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
K2047.0415101 D A AS|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
K2047.0426121 D AE ZH3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
K2047.0438161 D AE A3|M RAL 7021 8M16x1,54010,7 81 2645323 8 16 24 23 8 19 20
K2047.040408084 D AE NEASE 4 M8 205,34451523,813 4 8 13 1 6 12 2
ZH RAL 3020
K2047.041510084 D AR 73\_'5% i 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.042612084 D AE 7;A_I§% -l 6 M12 30 8 61,72034 17 6 12 19 1.8 8 15 15
Z RAL 3020
K2047.043816084 D AE ;A_l_%% e 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
Z RAL 3020
K2047.040408184 D AE] f\_l_%% i 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.041510184 D AE A E W 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
ZH RAL 3020
K2047.042612184 D AE WNEASE ) 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
Z RAL 3020
K2047.043816184 D A WNEASE 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
Z RAL 3020
K2047.1404080 D AH|QI AS|M RAL7021 4 M8 205,34451523,813 4 8 13 1 6 12 2
A AE
K2047.1415100 D AE|Ql AS|MRAL7021 5 M10 2586,7 52,21728,515 5 10 17 1,3 6 12 7
A AE]
K2047.1426120 D AHE|QI HE|MRAL7021 6 M12 30 8 61,72034 17 6 12 19 1,8 8 15 15
fl&a AE
K2047.1438160 D AHE|QI HE|M RAL7021 8 M16 4010,7 81 2645323 8 16 24 2,3 8 19 20
fla AE!
K2047.1404081 D lAEilo._l | AS|M RAL7021 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
A AE]
K2047.1415101 D AH|QI A3|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
A AE]
K2047.1426121 D AH|QI A3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
oA AE
K2047.1438161 D AH|QI A3|M RAL 7021 8M16x1,54010,7 81 2645323 8 16 24 23 8 19 20
A AE]
K2047.140408084 D falo'_lg ;A_L%_% at 4 M8 205,34451523,813 4 8 13 1 6 12 2
A AE Z RAL 3020
K2047.141510084 D AE|Q! A5 W 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
A AE] ZH RAL 3020
K2047.142612084 D lAEilo._I | WNEASE ) 6 M12 30 8 61,72034 17 6 12 19 1,8 8 15 15
A AE] Z RAL 3020
K2047.143816084 D |¢E+|°._I | ;A_li%%f 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
A AEl Z RAL 3020
K2047.140408184 D |¢E+|°._I | ;A_IE% i 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
A AE] ZH RAL 3020
K2047.141510184 D fEiIO._I | ;A_Ii% -l 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
A AE] ZH RAL 3020
K2047.142612184 D fEﬂO._lé ;A_L%_% e 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE Z RAL 3020
K2047.143816184 D AE|QI M E W 8M16x1,54010,7 81 2645323 8 16 24 2,3 8 19 20
A AE] ZH RAL 3020
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 5/5



